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It is a banana. — They are bananas.
It is an orange. —
It is a cake. —
It is a pizza. —
It is an egg. —
It is a Dbiscuit. —
It is a sandwich. —

8. It is a burger. —
9. It is a chokolate cake.
10. It is an apple. —
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57 ) Fill in: he, she, it or they. \} - -Qov
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1. John he 4. horses 5\ 90
2. table 5. Sam and Pam i

3. boys 6. Ann
Write the plural form.

1. lady ladies 6. glass
2. witch 7. child
3. fox 8. hat
4. goose 9. foot
5. boy 10. sheep

Fill in can or can’t and the appropriate verb.



. consonant + y s ies but vowel (a,e,i,o,u) + y mmp s

‘Singular = Plural o o

baby babies

boy boys

2. Plural Forms

s,ss,sh,ch,x,0 === es
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buses church churches
glasses box boxes
bushes tomato tomatoes

- f/fe = ves
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leaf leaves
housewife housewives




1. One boy two . boys
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4. One tomato two 5. One radio two
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7. One leaf two 8. One knife four
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tooth teeth

mouse mice foot feet

policeman
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fish fish

2. Plural Forms
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ox oxen
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deer deer




1. One woman two Worren 2. One goose three 3. One child three
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4. One mouse three 5. One man two 6. One tooth two

@ Change to the plural as in the example:

1.0One hat two = nzts 2. One glass three

&/ /

6. One dress two




H/t

1. Yu4nTb npaBuna MHOXeCTBEHHOIo Yncna
CYLLECTBUTENbHbIX.

2. Ha kaHukynax Bbly4YnTb HEMPAaBUSIbHbIE
doopmMbl MH.4Kuc. Cn.6.

3. Krto Oyaet B naTHULY 25.12
OTCYTCTBOBAaTb, BbIMNOMHUTb YrpaXHEHUS
CO cnangos.
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